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CHAPTER IV

RESULT AND DISCUSSION
A. Result of Student’s Response of Using Team Assisted Individualization Technique
The result of interview sheet about student’s response of using Team Assisted Individualization (TAI) technique in learning reading comprehension on narrative text of MTs Raudhlatul Ulum Anyer
Table 4.1

Distribution Frequency Relative of Interview Sheet

	No
	Indicator
	f
	Percentage (ᵖ)

	1
	Team Work
	10
	33%

	2
	Do individually
	0
	0%

	3
	Combining team work and do individually
	20
	67%

	Total 
	N=30
	∑P = 100%


To know the score of percentage (ᵖ)with formula:

P
=  [image: image2.png]


 X 100%

P1
=  [image: image4.png]


 X 100%=33%
P2
=  [image: image6.png]


 X 100%  = 0%
P3
=  [image: image8.png]0



 X 100%  = 67%
Based on the table above, it showed that67% students in experiment class chose combining team work and do individually in learning process, because it made easy to doing exercise and understanding the material and also with combining if there was a student that did not understand yet, that students could ask with own group that having more ability. With team work, students studied together after students understood the material they could do individually so that students have responsibility and only 33% chose team work.It means that, student’s response in using Team Assisted Individualization technique in teaching reading comprehension on narrative text is accepted by the students. 
B. Result of the Application in Using Team Assisted Individualization Technique
Based on the result of observation was done by experiment class (X B), there were two indicators in observation sheet, they are student’s enthusiastic in learning and learning process. 
Table 4.2
Result of Observation Sheet

	Observation Aspect
	Score
	Explanation

	
	1
	2
	3
	4
	5
	

	Student’s enthusiastic in learning

1. Students have an interest in learning reading English using TAI technique
	
	
	
	√
	
	5 = Extremely Good

4 = Good

3 = Fair

2 = Low

1 = Extremely Low



	2. Students are enjoy in teaching learning
	
	
	
	√
	
	

	Learning process 

3. Students follow the teachers’ instruction
	
	
	
	
	√
	

	4. Students listen the teachers’ explanation about the material
	
	
	
	√
	
	

	5. Students read a legend story in their group 
	
	
	
	
	√
	

	6. Students learn together in their group about that story
	
	
	
	√
	
	

	7. Students do exercise individually in their group
	
	
	
	√
	
	

	8. Students have high level can be peer tutoring to other member in their group.
	
	
	
	√
	
	

	Total 
	∑ X =  34
	· 


· Determining Mean score with formula:
Mean =[image: image10.png]




    =  [image: image12.png]w |8



=  4,25. 


It means that the result of observation sheet is good, and the application the activities of using Team Assisted Individualization technique in teaching reading comprehension applied well. Because the explanation in score 4,25 include in score 4, it is good. Indicator of observation include student’s enthusiastic in learning, students have had an interest in learning narrative text, it showed when teaching-learning process students were enjoy in studying using Team Assisted Individualization. The other indicators was learning process, it showed when learning process students followed the teacher’s instruction, studied with their group well and students have had high level was be peer tutoring in their group. After doing team work, they did exercise individually.
C. The Influence of Team Assisted Individualization Technique in Teaching Reading Comprehension

1. Description of data

In this chapter, the writer would explain the result of research. The writer would attempt to submit the data as outcomes of research has hold in First Grade of MTs Raudhlatul Ulum Anyer. The writer took 60 students as a subject in this research.  It is divided into two classes. There are 30 students from X B as the experimental class and 30 students from X A as the control class.
To getting the data the writer used test as instrument, they were result of pre-test and second one is the result of post-test. The result of post-test in experimental class is named variable [image: image14.png](X,)



 and the result of post-test in control class is named variable[image: image16.png]


.
Pre-test and Post-test was same shape, it contained 15 items, which 10 items about multiple choice and 5 items other about essay. In that test, there was a text about the legend of Prambanan temple in pre-test and the Legend of sun and moon eclipse in post-test and from that text, the students filled their test with one text to all questions in every test. 

2. Analyzing the data 

a. The score of pre-test and post-test of experimental class

The student’s score of class X B as the experimental class obtained 59,9 for mean of pre-test and 83 for mean of post-test. The scores of pre-test and post-test will be described in the following table.

Final score = Multiple choice score + Essay score    x 100



  Ideal max score (20)
Table 4.3
Student’s Score of Experiment Class
	No
	Nama
	Pre-test score
	Post-test score

	1
	AF
	70
	75

	2
	AH
	50
	60

	3
	AWP
	60
	75

	4
	AFZ
	73
	90

	5
	FM
	75
	95

	6
	FQ
	65
	85

	7
	HS
	65
	75

	8
	INA
	50
	70

	9
	INS
	50
	75

	10
	IR
	83
	90

	11
	JA
	70
	95

	12
	JD
	30
	70

	13
	LR
	88
	85

	14
	MD
	50
	75

	15
	MAA
	90
	95

	16
	NZ
	70
	85

	17
	NM
	50
	65

	18
	NMD
	85
	85

	19
	NJ
	65
	85

	20
	PAS
	75
	75

	21
	RR
	90
	95

	22
	RA
	88
	95

	23
	RH
	35
	65

	24
	RS
	85
	90

	25
	RB
	63
	80

	26
	SKB
	65
	80

	27
	ST
	63
	80

	28
	SH
	70
	85

	29
	SK
	50
	80

	30
	VS
	40
	75


After knew the result of the test to make easy to look the result, the writer reserved the graphic below:

Graphic 4.1
Result Pre-test and Post-test of Experimental Class
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From the graphic above can be seen the scores from 30 students in the experimental class, the highest score in pre-test is 90 and the highest score in post-test is 95. Whereas, the lowest score in pre-test is 30 and the lowest score in post-test is 60. From graphic above, it shows that in experimental class, the students’ score got increasing from pre-test to post-test scores. 

1)The result of Pre-Test in Experimental Class


Based on the table and graphic above the writer will arrange the scores from the lowest to the highest score as follow:

30     35     40     50     50     50     50     50     50     60  

63     63     65     65     65     65     70     70     70     70  

73     75     75     83     85     85     88     88     90     90  
a)  Finding out range with formula:

R= H – L + 1

= 90 – 30 + 1

= 61

b) Looking for the class interval (k), with formula:

[image: image19.png]


= [image: image21.png]


 = it is had better getting result between 10 – 20 

So, it got i = 6 because [image: image23.png]


= 10.16 (between 10 – 20). 

i = 11 (be completed)
c) Making distribution frequency table
Table 4.4
Distribution Frequency of Pre-test
	Interval
	F
	X
	xˈ
	f.xˈ
	f.[image: image25.png]




	30 – 35
	2
	32,5
	+5
	10
	100

	36 – 41
	1
	38,5
	+4
	4
	16

	42 – 47
	0
	44,5
	+3
	0
	0

	48 – 53
	6
	50,5
	+2
	12
	144

	54 – 59
	0
	56,5
	+1
	0
	0

	60 – 65
	7
	62,5(M()
	0
	0
	0

	66 – 71
	4
	68,5
	- 1
	-4
	16

	72 – 77
	3
	74,5
	- 2
	-6
	36

	78 – 83
	1
	80,5
	- 3
	-3
	9

	84 – 89
	4
	86,5
	- 4
	-16
	256

	90 – 95
	2
	92,5
	- 5
	-10
	100

	Total
	N=30
	-
	-
	Ʃf.xˈ=-13
	Ʃf.[image: image27.png]


 = 677


Note
: to find mean (M() in that table, if the table was odd like in that interval consists of 11 table, so the writer can find immediately with middle point between 1-11 and the result is interval 6th, it is mean (M().
d) Determining Mean Score of M[image: image29.png]



M[image: image31.png]



= Mˈ+ i [image: image33.png](3





= 62,5 + 6 [image: image35.png](3





= 62,5 + (-2,6) 


= 59,9.

e) Determining Deviation Standard


SD[image: image37.png]



=i[image: image39.png]oy






= 6[image: image41.png]E-@






= 6[image: image43.png]



= 6[image: image45.png]V22,39




= 6 x 4,73 = 28,38
f) Determining Error Standard

SE[image: image47.png]


 = [image: image49.png]SDx”




 = [image: image51.png]


 = [image: image53.png]28.38
B



 = 5,27
g) Making Polygon Graph

Graphic 4.2

Pre-test in Experimental Class
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2)The Result of Post-test of Experimental Class

Based on the table above the writer will arrange the scores from the lowest to the highest score as follow:


60     65     65     70     70     75     75     75     75     75   

75     75     80     80     80     80     85     85     85     85

85     85     90     90     90     95     95     95     95     95
a) Finding out range with formula:


R = H – L + 1

= 95 – 60 + 1


= 36

b) Looking for the class interval (k), with formula:

[image: image56.png]


 = [image: image58.png]


 = it is had better getting result between 10 – 20 
So, it got i = 3 because [image: image60.png]


= 12 (between 10 – 20). 

i = 12

c) Making distribution frequency table
Table 4.5
Distribution Frequency of Post-test
	Interval
	F
	X
	f.X
	xˈ
	f.xˈ
	f.[image: image62.png]




	60 – 62
	1
	61
	61
	+ 7
	7
	49

	63 – 65
	2
	64
	128
	+ 6
	12
	144

	66 – 68
	0
	67
	0
	+ 5
	0
	0

	69 – 71
	2
	70
	140
	+ 4
	8
	64

	72 – 74
	0
	73
	0
	+ 3
	0
	0

	75 – 77
	7
	76
	532
	+ 2
	14
	196

	78 – 80
	4
	79
	316
	+ 1
	4
	16

	81 – 83
	0
	82(M()
	0
	0
	0
	0

	84 – 86
	6
	85
	510
	- 1
	-6
	36

	87 – 89
	0
	88
	0
	- 2
	0
	0

	90 – 92
	3
	91
	273
	- 3
	-9
	81

	93 – 95
	5
	94
	470
	- 4
	-20
	400

	Total 
	N=30
	-
	Ʃf.X= 2430
	-
	Ʃf.xˈ= 10
	Ʃf.[image: image64.png]


 = 986


Note
: to find mean (M() in that table, if the table was even, the writer must use the formula: 

M( = [image: image66.png]


  = [image: image68.png]2430
0



 = 81
It means that midpoint is in interval 8th, because 79,9 is in 81 – 83 in interval 8th.
d) Determining Mean Scoreof M[image: image70.png]



M[image: image72.png]



= Mˈ+ i [image: image74.png](3





= 82 + 3[image: image76.png]()





= 82 + 1 = 83
e)Determining Deviation Standard


SD[image: image78.png]



=i[image: image80.png]oy






=3[image: image82.png]Z-@






= 3[image: image84.png]


 = 3[image: image86.png]V3277



 = 3 x 5,72 = 17,16
f) Determining Error Standard

SE[image: image88.png]


= [image: image90.png]


 = [image: image92.png]


 =[image: image94.png]17.16



 = 3,18
g) Making Polygon Graph

Graphic 4.3

Post-test in Experimental Class
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b. The score of pre-test and post-test of control class

The students’ scores of X A as the control class obtained 56,3for mean of pre-test and 62,5 for mean of post-test. The scores of pre-test and post-test will be described in the following table.
Final score = Multiple choice score + Essay score   x 100



Ideal max score (20)
Table 4.6
Student’s Score of Control Class

	No
	Name
	Pre-test score
	Post-test score

	1
	AH
	65
	80

	2
	AS
	60
	80

	3
	AM
	68
	70

	4
	AF
	80
	80

	5
	AN
	85
	80

	6
	AJ
	75
	60

	7
	AH
	80
	60

	8
	DW
	75
	65

	9
	HD
	80
	65

	10
	HS
	30
	60

	11
	HA
	93
	75

	12
	IRF
	80
	70

	13
	IM
	65
	70

	14
	IN
	53
	60

	15
	KZ
	70
	65

	16
	MSA
	65
	55

	17
	MF
	75
	65

	18
	MU
	70
	80

	19
	MM
	85
	55

	20
	NS
	55
	50

	21
	RR
	80
	80

	22
	SPC
	70
	80

	23
	SM
	75
	75

	24
	SD
	75
	75

	25
	SN
	55
	60

	26
	TS
	65
	70

	27
	TR
	68
	80

	28
	UY
	80
	70

	29
	WY
	50
	75

	30
	YM
	40
	70


After knew the result of the test to make easy to look the result, the writer reserved the graphic below:

Graphic 4.4

Result Pre-test and Post-test of Control Class
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From the graphic above can be seen the scores from 30 students in the control class, the highest score in pre-test is 93 and the highest score in post-test is 80. Whereas, the lowest score in pre-test is 30 and the lowest score in post-test is 50. 
1)The result of pre-test in control class

Based on the table above the writer will arrange the scores from the lowest to the highest score as follow:

30     40     50     53     55     55     60     65     65     65     65      68      68      70      70      70     7575     7575
75      80      80      80      80      80     80     85     85     93
a)  Finding out range with formula:


R= H – L + 1


  = 93 – 30 + 1


  = 64

b) Looking for the class interval (k), with formula:


[image: image98.png]


 = [image: image100.png]


 = it is had better getting result between 10 – 20 

So, it got i = 6 because [image: image102.png]


= 10,67 (between 10 – 20). 


i = 11 (be completed)

c) Making distribution frequency table

Table 4.7
Distribution Frequency of Pre-test
	Interval
	F
	X
	xˈ
	f.xˈ
	f.[image: image104.png]




	30 – 35
	1
	32,5
	+ 5
	5
	25

	36 – 41
	1
	38,5
	+ 4
	4
	16

	42 – 47
	0
	44,5
	+ 3
	0
	0

	48 – 53
	2
	50,5
	+ 2
	4
	16

	54 – 59
	2
	56,5
	+ 1
	2
	4

	60 – 65
	5
	62,5(Mˈ)
	0
	0
	0

	66 – 71
	5
	68,5
	- 1
	-5
	25

	72 – 77
	5
	74,5
	- 2
	-10
	100

	78 – 83
	6
	80,5
	- 3
	-18
	324

	84 – 89
	2
	86,5
	- 4
	-8
	64

	90 – 95
	1
	92,5
	- 5
	-5
	25

	Total 
	N=30
	-
	-
	Ʃf.xˈ= -31
	Ʃf.[image: image106.png]


 = 599


Note
: to find mean (M() in that table, if the table was odd like in that interval consists of 11 table, so the writer can find immediately with middle point between 1-11 and the result is interval 6th, it is mean (M().
d) Determining Mean Score


Determine mean of M[image: image108.png]



M[image: image110.png]



= Mˈ+ i [image: image112.png](3





= 62,5 + 6 [image: image114.png](%)





= 62,5 + (-6,2)


= 56,3
e) Determining Deviation Standard


SD[image: image116.png]Vi




=i[image: image118.png]oy






= 6 [image: image120.png]





= 6[image: image122.png]



= 6[image: image124.png]V18,91



 = 6 x 4,34 = 26,04
f) Determining Error Standard

SE[image: image126.png]


= [image: image128.png]


 = [image: image130.png]


 = [image: image132.png]


 =4,84
g) Making Polygon Graph

Graphic 4.5

Pre-test in Control Class
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2)The result of Post-test in Control Class

Based on the table above the writer will arrange the scores from the lowest to the highest score as follow:
50     55     55     60     60     60     60     60     65     65

65     65      70      70    70     70     70     70     75     75

75     75      80      80     80     80     80 80     80     80
a) Finding out range with formula:


R= H – L + 1


  = 80 – 50 + 1


  = 31
b) Looking for the class interval, with formula:


[image: image135.png]


 = [image: image137.png]


 = it is had better getting result between 10 – 20 

So, it got i = 3 because [image: image139.png]


= 10,3 (between 10 – 20). 


i = 11 (be completed)

c) Making distribution frequency table

Table 4.8
Distribution Frequency of Post-test
	Interval
	F
	X
	xˈ
	f.xˈ
	f.[image: image141.png]




	50 – 52
	1
	51
	+ 5
	5
	25

	53 – 55
	2
	54
	+ 4
	8
	64

	56 – 58
	0
	57
	+ 3
	0
	0

	59 – 61
	5
	60
	+ 2
	10
	100

	62 – 64
	0
	63
	+ 1
	0
	0

	65 – 67
	4
	66(Mˈ)
	0
	0
	0

	68 – 70
	6
	69
	-1
	-6
	36

	71 – 73
	0
	72
	-2
	0
	0

	74 – 76
	4
	75
	-3
	-12
	144

	77 – 79
	0
	78
	-4
	0
	0

	80 – 82
	8
	81
	-5
	-40
	1600

	Total 
	N=30
	-
	-
	Ʃf.xˈ= -35
	Ʃf.[image: image143.png]


 = 1969


Note
: to find mean (M() in that table, if the table was odd like in that interval consists of 11 table, so the writer can find immediately with middle point between 1-11 and the result is interval 6th, it is mean (M().
d) Determining Mean Score


Determining mean of M[image: image145.png]



M[image: image147.png]



= Mˈ+ i [image: image149.png](3




= 66 + 3[image: image151.png](%)





= 66 + (-3,50)

= 62,5
e) Determining Deviation Standard


SD[image: image153.png]Vs




= i[image: image155.png]oy






= 3[image: image157.png]-






= 3[image: image159.png]



= 3[image: image161.png]V64,29




= 3 x 8,01= 24,03
f) Determining Error Standard

SE[image: image163.png]


 = [image: image165.png]



= [image: image167.png]



= [image: image169.png]


 = 4,46.
g) Making Polygon Graph 

Graphic 4.6

Post-test in control class


[image: image170.png]E N W R U N ©

o

|
|
/
/

51

54 57 60 63 66 69 72 75 78 81

middle point

= Post-test





c. Comparing the Scores of Post-test in Experimental and Control Class
Based on the data above, the writer would compare between post-test in experiment class using treatment and post-test in control class that not using treatment.

Table 4.9
Score of Post-test in Experiment and Control Class

	No
	Post-test Experiment class
	Post-test Control Class

	1
	75
	80

	2
	60
	80

	3
	75
	70

	4
	90
	80

	5
	95
	80

	6
	85
	60

	7
	75
	60

	8
	70
	65

	9
	75
	65

	10
	90
	60

	11
	95
	75

	12
	70
	70

	13
	85
	70

	14
	75
	60

	15
	95
	65

	16
	85
	55

	17
	65
	65

	18
	85
	80

	19
	85
	55

	20
	75
	50

	21
	95
	80

	22
	95
	80

	23
	65
	75

	24
	90
	75

	25
	80
	60

	26
	80
	70

	27
	80
	80

	28
	85
	70

	29
	80
	75

	30
	75
	70


After knew the result of the test to make easy to look the result, the writer reserved the graphic below:
Graphic 4.7

Comparison between Post-test Experiment and Control Class
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The graphic above described the comparison between post-test in experimental class and post-test in control class. The highest score in experimental class is 95, while the highest score in control class is 80. And the lowest score in experimental class is 60, control class got score 50.
d. t-Test


After getting the data from the post test score of two classes, then the writer analyzed it by using t-test. The formula as follow :
1) Determining average from experimental class 


MX
= M[image: image173.png]


 – M[image: image175.png]





= 83 – 59,9


= 23,1
2) Determining average from control class


MY
= M[image: image177.png]Vs



 – M[image: image179.png]Vi






= 62,5 – 56,3


= 6,2
3) Determining difference of error standard from X and Y 


SEmx – SEmy = [image: image181.png]JSEx, + SEy,







= [image: image183.png]V3,18 + 4,46







= [image: image185.png]V7,64



 = 2,76
4) Determining[image: image187.png]


 (t observation)


[image: image189.png]



= [image: image191.png]





= [image: image193.png]23.1-6.2
276






= [image: image195.png]276



= 6,12
5) Determining T-table with significance 5% and 1%

Df
= N1 + N2 - 2 

= 30 + 30 – 2 

= 58 (consult to “t” table score)

Based on t table that there is 58. With df as number 58 is got t table as follow:

· At significance level 5% : [image: image197.png]


 = 1,67
· At significance level 1% : [image: image199.png]


 = 2,39
So after the writer calculated this data based on the formula t-test, the obtained [image: image201.png]toOT topservation



 was 6,12.
C. Testing Hypothesis
To prove the hypothesis, the data obtained from experiment and control class was calculated by using t-test formula with assumption as follow:
If [image: image203.png]


>[image: image205.png]


 : the alternative hypothesis is accepted. It means there is improvement in using Team Assisted Individualization (TAI) technique in teaching reading comprehension on narrative text.

If [image: image207.png]


<[image: image209.png]


 : The alternative hypothesis is rejected. It means there is no improvement in using Team Assisted Individualization (TAI) technique in teaching reading comprehension on narrative text.
From the result calculation above, it is obtained that the value of [image: image211.png]


 ([image: image213.png] observation



) is 6,12, degree freedom (df) is 58. In degree significance 5% from 58 (t table) = 1,67, in degree of significance 1% from 58 (t table)=2,39. 
After that the data, the writer compared it with [image: image215.png]


(t table) both in degree significance 5% and 1%. Therefore,[image: image217.png]=6,12> 1,67,




 in degree of significance 5% and [image: image219.png]=6,12> 2,39




 in degree of sifnificance 1%.


The statistic hypothesis states that if [image: image221.png]


 is higher than [image: image223.png]


, it shows that [image: image225.png]


(alternative hypothesis) of the result is accepted and [image: image227.png]


 (null hypothesis) is rejected. It means that using Team Assisted Individualization (TAI) technique has significant on teaching reading comprehension on narrative text.
D. Discussion of Research Findings


Based on findings of the research,It has found that the students who are taught by using Team Assisted Individualization (TAI) technique has been improved in teaching reading comprehension on tecnique text than the students who are taught without using Team Assisted Individualization (TAI) technique because the students who are taught by using Team Assisted Individualization (TAI) technique could elaborate team work and do individually, it made them more understanding the text because in their group there was a smart students that was be peer tutoring, so the students could not understand, they could ask to that student. But, it was different with team work, because after the students did team work, they continued with do individually and the students were enthusiastic in learning narrative text.

On other hand, in control class where students are taught reading comprehension on narrative text without Team Assisted Individualization (TAI) technique, students got the material about narrative text and only did exercise in their work sheet. 

Basedon the result of data analysis, that the mean of pre-test score obtained by students in MTs Raudhlatul Ulum Anyer class VIII B (experimental class) 59,9 was greater than class VIII A (control class) 56,3. The highest score of pre-test in class VIII B (experimental class) was 90 and in class VIII A (control class) also was 93. The lowest score of pre-test in class VIII B (experimental class) was 30 and class VIII B (control class) also was 30. It means that the capability of reading comprehension on narrative text in experimental and control class before treatment was almost same. 

The mean of post-test score in experimental class is 83 was greater than in control class is 62,5. The highest score of post-test in MTs Raudhlatul Ulum Anyer class VIII B (experimental class) was 95 and in class VIII A (control class) was 80. The lowest score of post-test in class VIII B(experimental class) was 60 and class VIII A (control class) 50. It means that the distribution of score in experiment class was greater than control class.

Then, the result of t-test shows that [image: image229.png]=6,12> 1,67,




 in degree of significance 5% and [image: image231.png]=6,12> 2,39




 in degree of significance 1% so that[image: image233.png]


(alternative hypothesis) of the result is accepted and [image: image235.png]


 (null hypothesis) is rejected. It means that Using of Team Assisted Individualization (TAI) technique has significant influence on teaching reading comprehension on narrative text.
The result of the t-test is also supported by the result of observation and interview that done by experiment class (VIII B). In result of observation, there were two indicators in observation sheet, they are student’s enthusiastic in learning and learning process. Indicator of observation include student’s enthusiastic in learning, students have had an interest in learning narrative text, it showed when teaching-learning process students were enjoy in studying using Team Assisted Individualization. The other indicators was learning process, it showed when learning process students followed the teacher’s instruction, studied with their group well and students have had high level was be peer tutoring in their group. After doing team work, they did exercise individually. 

The result of interview sheet about student’s response of using Team Assisted Individualization (TAI) technique in learning reading comprehension on narrative text at first grade of MTs Raudhlatul Ulum Anyer showed that almost students 20 students from 30 students in experiment class chose combining team work and do individually in learning process, because it made easy to doing exercise and understanding the material and also with combining if there was a student that did not understand yet, that students could ask with own group that having more ability. With team work, students studied together after students understood the material they could do individually so that students have responsibility. 


Finally, based on the interpretation above, the researcher could conclude that using Team Assisted Individualization (TAI) technique has significance in teaching reading comprehension on narrative text
50
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